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Name: __________________
9-19-05
Quiz for Section 1.3
1.  (6 pts)  The scores of a reference population on the Wechsler Intelligence Scale for Children (WISC) are normally distributed with μ = 100 and σ = 15.  What score will place a child in the top 15% of the population?  Note:  For possible partial credit, illustrate with an appropriate diagram (density curve, scales, shading, etc.) and show your work clearly.

2.  (6 pts)  Using Table A, find the relative frequency of each of the following events in a standard normal distribution.  In each case, sketch a standard normal curve with the area representing the relative frequency shaded.
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